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P ‘ E : 10.39° Formy: EFy=may +n —'mlg=0
l N .

n=mg=196N

fi=wn=706N
SF,=ma, 706N +T;=(2.00kgha (1)

For the pulley

Yr=1Ic

: ','Tl R+ T2 = %MRZ(%)
i U .
Ty+Tp=5(100kge  Ti+Tp=(6.00kgs @)

1“;

L mg

For my: -+1—mg cos §=0 L‘

- nf 6.00 kg(9.80 m/s?) cos 30.0° =’}50.‘§: N o
fe - Wi, = 18.3 N | |
183N -~T, +mygsin f=mxu
~183N-T,+294N=(600kgha (3) '

(a) Add equations (1) (2)and @: "

706 N-183 N +29.4 N = (13.0 kg)a
401N >
1=130kg " 0.309 m/s |

(b) T,=2.00kg (0309 m/s?) +7.06 N =|7.67 N

T, =7.67N +500 kg(0.309 m/s?) =




11.4

P¥.

1 I o
£= *mU2+ la? = [m+—}v2wh¢re ==

RZ

AISO, U,- = mgh, ujr: 0, and U= 0

1 [
Therefofe, 2[ RZ} UZ = mgh

2¢h

Thus, 2*= 0 " /mRD)]

1
For a disk, [ = 5 mR2, so

T T N 7
Y= Tear2] ¥ |Yask= N T3

2¢h
Foraring, I=mR? so ©?= —’f_

R

since no slipping.

Uring =

Vgh

Since vgisk > Uring, | the disk| reaches the bottom first.

11.60 (a) Li:g{MU(%ﬂz Modl-

(b) K= 2[%1\/102}:
© 1=

: L _Mvd
(d) = 3(Mr) = 2M(d/9)

() Ks=2 ( va) M(20)? = [4Me?]

() W=K-K=[sMe?



